Grade this Quiz Name:

A student was asked to find the derivative of the following functions. Mark each answer as correct
or incorrect. If the answer is wrong, explain to the student both what their error was and how to
do the problem correctly. At the top of a page, give the total score out of 10.

1. f(z)=a®+ 72 =3+ x
1
f'(x) =3x+ 14x — 3+ ——

NE:

2. g(x) = x"sinzx

g'(x) = 2x cosx

3. h(z) = tan’z
h'(x) = 2tanx - sec® x

4. m(x) = tan (2?)
m’(x) = 2tan xsec® x

5. n(x) = e%°”
n/(x) _ eso('xmnx



10.

.plx) =2"

() =2t

q(x) = %
foy Inx—1
q4(x) = (Inx)?
. (x) = +/cos (z3)

h(z) f(g(x))
(h(x)£(g(x)))" = b (x)f(g(x)) +h(x) - £'(g(x))(g'(x))
9(x)
Find h/(2). Assume f(1) =2, f(2) = 0, f/(1) = 3, f'(2) = 4. 2r
g(z) is given by the graph to the right. /|/ /I\I\
-3 1 3

n'(2)=£(2)-¢'(2) +£(2) - g(2)=0--1+4-1=4



